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€1, A person who likes helping others. He is......................

V) upset Y) neat ) helpful $) rude
£V, A person who is not funny and does not joke. Heis ....................
V) serious Y) happy ) cruel
¢A, My sister is not quiet. Heis ..............ccoeeinn..
V) angry Y) nervous ) careless

¢4, His brother learns and understands fast. Heis .....ooovvvveiieiiininio ..
V) hard-working  Y) clever ) selfish

©+. A: What’s this boy like? generous
B:He’s oo
V) upset Y) generous  Y) rude ¢) lazy
©Y. A: How are they travelling?
B: They are travelling by.....................
V) bus Y) expresstrain  Y)ship ¢) plane

°Y. A: What is he doing?
B:Heis .....oooooiiiiiinn.
V) checking in  Y)buying a ticket  ¥) booking a room ¢£) packing for a trip
°Y. A: Are your brother and you hard-working?

V) lam Y) you are ¥) we are ¢) they are
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¢ Peterand Ferdinand ............ccovvennnnnnn. at this time.

V) are taking off Y) take off ¥) taking off %) takes off
©6. My uncle is booking ahotel .....................c.oa
V) now Y) on Mondays ¥) Every day ¢) on weekend
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